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1. (5points) Ina closed economy, desired national saving equals
(HER A3 E R AL R R IR

2. (5points) If the price level is 1.25, the nominal money stock is $600,000,000,
and velocity is 10, then the real GDP is C(GEE BB aR)

3. (5points) Does an increase in risk cause money demand to rise, to fall, or to
remain unchange? State your reason(s).

4. Okun’ law can stated as (AY/Y) = 3-2Au.
() (5 points) Use a diagram to illusate Okun's law.
(b) (5 points) Explain the economic meaning of Okun's law.

(c) (5points) Assume that unemployment rate increased by 3 percentage
points between this year and next year, by how much will output change during
the same period?

5. Suppose the proudction function is
Y=AF(K, L)

where Y is total output, X is total capital stock, L is total labor force, and 4 is
productivity. The growth accouting equation is derived as

(AY/Y)=(A4/A)tax(AK/K)+ar(AL/L)
(8 (5 points) What do ax and ar represent?

(b) (5 points) What are the sources of economic growth according to the
. growth accounting equation?

(c) ' (5 points) Derive the Solow residual and state its economic meaning.

G ’ (5 points) Assume that ax + a, = 1, derive the growth rate of average labor
productivity.
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6. (15 points) List briefly the main stylized facts on quantities characterizing the
movement and the comovement in business cycles (output, productivity,
employment, consumption...).

7. (10 points) How an increase in the money supply affects the nominal interest
rate differently in the short run and in the long run?

8. Under a fixed exchange rate regime with perfect capital mobility:

(1) (5 points) Show the relationship of nominal interest rates between two
countries (Home (i) and Foreign (ir)) implied by uncovered interest parity.

(2) (20 points) Using the IS-LM Model of an open economy to discuss the
impacts of expansionary monetary policy (implemented through changes in
the money supply) and expansionary fiscal policy (involving changes in
government spending) on interest rates and GDP.
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